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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 5316 1.7 0.6 2 85.2 99.8
2 5313 1.2 0.6 2 60.4 99.8
3 5313 2.5 1.2 4 61.4 99.8
4 5304 3.1 1.2 4 76.6 99.6
5 5310 1.8 1 3 60.4 99.7
6 5202 1.3 0.8 2 63.5 97.7
7 5312 2.5 0.7 3 84.5 99.8
8 5317 12.6 4.1 20 62.8 99.8
9 5318 12.2 3.8 20 60.9 99.9

10 5314 11.8 3.9 20 59 99.8
11 5307 11.3 3.9 20 56.6 99.7
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GCSE BUSINESS STUDIES  4080-01 

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question  Answer Mark 
allocation 


Assessment 
objective 


8 (a) Outline what is meant by the term entrepreneur. 


Any points from the following: [4x1] 
4 points or 1 point plus development  [1x4] 


They set up a business – have the idea – show the initiative 
They are the business owners – they invest / put money into 
the business 
They run the business – they are the managers – survival / 
success depends on their efforts 
They earn the profits / make money – to fund their lifestyle – 
to further invest 
They take the risks / face the uncertainties – of e.g. not 
selling / low demand 
Suffer the consequences of failure – particularly with 
unlimited liability 
Qualities / characteristics of entrepreneur – determined / 
organised  
etc. 


4 AO1 4 
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Sticky Note

Despite good use of business terminology, there is only one valid point from the mark scheme
 - an entrepreneur is someone who sets up their own business.

Therefore, this candidate achieved 1/4.














 



Sticky Note

The first valid point from the mark scheme - someone with a business idea.



Sticky Note

The second valid point is someone described as a risk taker.  The development is too vague and therefore achieves no extra marks.



Sticky Note

The final mark is awarded for a characteristic or personal trait of entrepreneurs - they are motivated.  A maximum of 2 personal traits were acceptable or 1 explained.

This candidate achieved 3/4.












 



Sticky Note

Valid point from the mark scheme by suggesting entrepreneurs are willing to take risks.



Sticky Note

This sentence is particularly good and would be given 2 marks for a valid point and development.  Excellent use of business terminology by suggesting that entrepreneurs try to exploit a gap in the market with the purpose of making a profit.





Sticky Note

The candidate identifies that entrepreneurs need to be able to manage and lead effectively, which are valid points from the mark scheme.



Sticky Note

This question is point marked and therefore any 4 valid points would allow the candidate to access full marks.  This candidate has 3 points plus development to merit 4/4.
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8. Judith Rutherford has just been made redundant from a local business producing window


blinds. She had learned many skills both in the factory and in the office. In her locality there are
fairly high levels of unemployment so her chances of finding another job are limited. Judith has
decided to set up her own business, as a sole trader, producing and selling curtains and blinds.


Judith could be described as an entrepreneur.


(a)	 Outline what is meant by the term ‘entrepreneur’.	 [4]
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Question  Answer  Mark 
allocation 


Assessment 
objective 


9 (f) Advise the Directors as to whether they should 
continue using their current method of buying materials or 
whether they should adopt JIT. 
 
Level 1 Advantage(s) and / or disadvantage(s) of one or 
both methods suggested / listed. 
 
Level 2 Advantage(s) and /or disadvantage(s) of one or 
both explained.  
 
Level 3 Advantage(s) and disadvantage(s) of each 
explained. To gain full marks answer must provide a 
reasoned decision based on business arguments. 
 
Answers might include:- 
 
Advantages of traditional method 
 
Stock usually available – not held up by bottlenecks / delays 
in delivery 
Bulk purchases – discounts available – lower prices – lower 
costs 
Quality of stock can be checked – longer time available 
Stock can be kept in correct environment  
etc. 
 
Disadvantages of traditional method 
 
Need to find storage – warehousing can be expensive –  
(in this case) warehousing not owned – may be lost 
depending on other business 
Stock needs to be moved from where it is stored to factory – 
expensive / greater chance of damage 
Labour costs – involved in looking after stored goods 
Materials may deteriorate – perhaps wrong environment 
Materials may become out of date – technology means new 
material always being developed 
Downturn in business means high cost materials not 
needed – cannot be resold – will not get outlay back 
etc. 
 


8 
 
 
 


1-2 
 
 


3-5 
 
 


6-8 
 
 


AO1 2 
AO2 3 
AO3 3 
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Question  Answer Mark 
allocation 


Assessment 
objective 


Advantage of JIT 


Stock only bought when needed – no need for warehouse – 
lower storage cost 
Materials generally in good condition – straight from 
manufacturer 
Up to the minute materials bought – based on current 
technologies 
Little waste – only buying what needed – small surplus of 
stock in downturn 
Stock delivered straight to where it is needed – no extra 
cost / reduced chance of damage 
Can reduce cash flow problems 
etc. 


Disadvantages of JIT 


Depend on suppliers – if they run out of materials – 
production may have to stop 
Delivery difficulties – delays through weather / congestion / 
accidents 
No bulk buying – deliveries more expensive –  more need to 
be paid for - no economies of scale  
etc. 
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Sticky Note

The candidate is correct in suggesting that the traditional methods could be cheaper and that there will always be stock available.  However, these are just listed at this point.



Sticky Note

An attempt to explain why the traditional method of stock control may be cheaper but it is not relevant and therefore the candidate is still in Level 1.



Sticky Note

Again, the candidate has correctly identified a problem with JIT - stock may not turn up on time but unfortunately there is no development.  Therefore, this is a Level 1 response and on this occasion the candidate achieved 2/8.












 



Sticky Note

The candidate has used business terminology to suggest a benefit of the traditional method of stock control and explained the positive impact on the business.



Sticky Note

This is well written to provide a disadvantage of the traditional method.  The consequence is explained well to highlight that revenue may fall or costs will rise.  This response is now well into Level 2.



Sticky Note

Clear comparison with the traditional method to outline the benefit of JIT.  This could be better developed to explain why costs will be lower.



Sticky Note

The disadvantage of JIT is really well developed to highlight the consequence of being unable to meet unexpected demand - Possibility of losing customers.



Sticky Note

Reasonable conclusion based on the evidence.

Overall, a balanced argument that is clearly a level 3 response.  This candidate received 7/8.












 



Sticky Note

The candidate has used business terminology to suggest a benefit of the traditional method of stock control and explained the positive impact on the business.



Sticky Note

This is well written to provide a disadvantage of the traditional method.  The consequence is explained well to highlight that revenue may fall or costs will rise.  This response is now well into Level 2.



Sticky Note

Clear comparison with the traditional method to outline the benefit of JIT.  This could be better developed to explain why costs will be lower.



Sticky Note

The disadvantage of JIT is really well developed to highlight the consequence of being unable to meet unexpected demand - Possibility of losing customers.



Sticky Note

Reasonable conclusion based on the evidence.

Overall, a balanced argument that is clearly a level 3 response.  This candidate received 7/8.
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Examiner
only


	 The Production Department is responsible for ordering stock. At present the company is buying 
materials in bulk and storing these in a warehouse rented from a neighbouring business. The 
Board of Directors is considering using the Just-in-Time (JIT) method of buying materials in 
order to reduce the amount of stock being held.


	 (f)	 Advise the Directors as to whether they should continue using their current method of 
buying materials or whether they should adopt JIT.	 [8]
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Question  Answer Mark 
allocation 


Assessment 
objective 


11 (a)  Suggest and explain two ways in which the owners of 
Pizazz could measure the success of the business at the 
end of the second year. 


Suggestion  (1x2) 


Explanation / development (2x2) 


Growth of profits - compared with previous time - against 
targets -  
Level of profit - compared with competitors – is net % profit 
greater  
Increase in sales / turnover / rate of turnover - improved 
marketing – was cost worth it? 
Increase in the number of customers - indicating greater 
customer satisfaction - 
Increase in scale of production - growth - internal - 
acquisitions - possibly leading to  economies of scale  
Ask customers opinions - customer feedback - customer 
satisfaction  
Compare financial results with targets -  better than 
expected performance by business – balance sheet – cash 
flow  
Increased market share - how much of the total market does 
business supply? – has it increased  
Meet objectives 
etc. 


6 AO1 2 
AO2 4 
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Sticky Note

1 mark awarded for correctly suggesting that the owners could measure the profits and losses.  However, there is no explanation or development at this point.



Sticky Note

This is basically a repetition of the first response, so no marks would be awarded for this suggestion.



Sticky Note

A mark has been awarded here for development of the initial suggestion - measure profit and losses.  The owners could compare the figures with the previous year.  

Awarded 2/6.

Therte












 



Sticky Note

1 mark for correctly suggesting that the owners could measure success using profits.



Sticky Note

An additional mark awarded for suggesting that profits on the second year can be compared with the first.  However, no marks for suggesting how they could use the information.



Sticky Note

1 mark for suggesting that the owners could measure success by implying that they could look at competitor sales.  However, the candidate has again explained how this information could be used - no additional marks.



Sticky Note

The candidate achieved 3/6.












 



Sticky Note

1 Mark for suggesting that the owners could use the Profit and Loss Account.



Sticky Note

The candidate achieved an additional mark for suggesting that the figures be compared with the previous year.



Sticky Note

1 Mark for Cash Flow Forecast.



Sticky Note

Despite a lack of clarity in the written answer.  An additional 2 marks were awarded for suggesting that the cash flow forecast can be compared to see if the company did better.  



Sticky Note

The candidate achieved 5/6.
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Examiner
only


11.	 Pizazz is a new business in the fast food industry. It has been in business for almost one year. 
Pizazz has one outlet selling a variety of products from burgers to pizzas.


	 (a)	 Suggest and explain two ways in which the owners of Pizazz could measure the success 
of the business at the end of the second year.	 [6]


	 (i)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	


	


	


	


	


	 (ii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  
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Question  Answer Mark 
allocation 


Assessment 
objective 


11 (d) Assess the likely impact on the local community and 
its environment of having such fast food outlets in the town 
centre. 


Level 1 Advantage(s) and / or disadvantage(s) to either 
the community or the environment suggested / listed. 


Information is poorly organised. There is limited use of 
specialist terminology / vocabulary and frequent errors in 
spelling, punctuation and grammar.   


Level 2 Advantage(s) and /or disadvantage(s) of fast food 
outlets to either the community or the environment 
explained.  


Information is well organised and ideas are expressed in a 
logical manner. There is good use of specialist terms/ 
vocabulary with some errors in spelling, punctuation and 
grammar, but these are not intrusive. 


Level 3 Advantages and disadvantages of fast food 
outlets to the community and the environment explained. To 
gain full marks answer must provide a reasoned 
assessment based on business arguments. 


Information is very well organised and the form and style of 
communication is highly appropriate. There is very good use 
of specialist terms/vocabulary with few, if any, errors in 
spelling, punctuation and grammar. 


10 


1-3 


4-6 


7-10 


AO1 3 
AO2 3 
AO3 4 


© WJEC CBAC Ltd. 


15 







Question  Answer  Mark 
allocation 


Assessment 
objective 


 Advantages might include 
 
Increase in the number of people in area - might attract 
custom for other businesses – e.g. - will lead to greater 
income / profit for these – more investment in area  
More jobs in area - increased spending power for local 
residents  
Other businesses may be attracted - with positive effect on 
community 
Fast food outlets / other businesses will need to train 
workers – new skills for community 
Improvement in community appearance – better than having 
boarded-up businesses 
May increase house prices – people feeling better off – 
good for people moving out of area 
etc. 
 
Disadvantages might include 
 
Decrease in number of customers for competitive 
businesses - as customer are attracted towards fast food 
outlets  
Health issues – obesity – demand on health services 
Negative effect on infrastructure of area - e.g. congestion 
Social consequences – open at unsociable hours – may 
disturb residents 
Environmental effects - litter – increased cost of street 
cleaning / bins also bright displays outside businesses 
Similar businesses might be attracted – problems multiplied 
Other businesses may not be attracted – not wanting to be 
associated with fast food outlets 
Suitable jobs for locals may not be provided - low paid / 
unskilled / part-time / temporary 
May increase house prices – difficult / more expensive to 
“move upwards” / to move into area 
May decrease house prices  - difficult to move 
etc. 
 
Some answers might suggest that there will be no effect – 
one type of business replaced by another 
etc. 
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Sticky Note

Whilst it is not written effectively, there is a valid point evident and there is a reasonable attempt to explain the negative impact on the community - costs the council money to clean up litter and health and safety issues.  



Sticky Note

A positive impact identified - attract customers to local shops, however there is limited development.



Sticky Note

4 additional points suggested - congestion, more people employed, obesity and helping local producers.  However, the explanations and development are limited.  Therefore, this is a definite Level 2 response.

This candidate achieved 4/10.












  



Sticky Note

A negative impact on the local community has been suggested - increase health problems and there is evidence of explanation.  

The candidate could have developed this by outlining the impact on local medical services or costs to the government to deal with health problems.



Sticky Note

A negative impact on the environment is identified and explained in terms of harmful gases. 







 


 


 



Sticky Note

Another negative effect on the local community as the candidate has outlined the impact on local businesses.



Sticky Note

Despite providing 3 valid points with an explanation, the candidate cannot achieve Level 3 because the discussion is one-sided.  Therefore, the mark awarded was top of Level 2 - 6/10.  












 



Sticky Note

Introduction setting the scene with a valid positive and negative impact.  However, the introduction is not essential.



Sticky Note

A positive impact suggested, with development to outline the benefits to the community.



Sticky Note

A negative impact on the environment identified and explained.  This is now achieving the middle of Level 2.



Sticky Note

More development of the negative impact to explain the problems caused to the community.  This is now top of Level 2.







 


 


  



Sticky Note

A valid suggestion for a negative effect on the environment with development.  The response is now in Level 3.



Sticky Note

Positive effect on the environment suggested and explained to achieve the top of Level 3.



Sticky Note

This is a well written response with positives and negatives to both the community and environment explained.  There is good use of terminology and an attempt to provide a reasoned conclusion.  

This candidate achieved 9/10.  
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Examiner
only


	 (d)	 Assess the likely impact on the local community and its environment of having fast food 
outlets in the town centre.	 [10 QWC]
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